Numeracy – Problem Set 2

IF YOU ENJOY THESE, WRITE WATERLOO MATH CONTESTS! SEE MR JOHN FOR DETAILS
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	[image: image1.png]The lengths of the three sides of a triangle are 7, x + 4 and 2x + 1. The perimeter of
the triangle is 36. What is the length of the longest side of the triangle?

(A) 7 (B) 12 (C) 17 (D) 15 (E) 16





	2.

P 2005 #7
	[image: image2.png]If %x = 12, then %x equals
A1l B) 16 9 (D) 144 (E) 64
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(A) 2 (B) 3 (C) 4 (D) 5 (E) 6

If y = 3, the value of is
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	[image: image4.png]If AD is a straight line segment and E is a point on AD,
determine the measure of ZCED.

(A) 20° (B) 12° (C) 42°

(D) 30° (E) 45°
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	[image: image5.png]A compact disc originally sells for $10.00. If the price of the compact disc is increased by 40% and
this new price is later decreased by 30%, what is the final price?

(A) $9.80 (B) $17.00 (C) $9.00 (D) $19.80 (E) $9.60
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	[image: image6.png]If x=2 and y=-3 satisty the equation 2x2 + kxy =4, then the value of k is

A 3 ®) 0 © 35 D) -3 E) -2
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	[image: image7.png]In the diagram, two equal-armed balances are shown. How many . would it take to balance one .?

(A1 B)2 ©3 (D) 4 (E)S5
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	[image: image8.png]Gillian has a collection of 50 songs that are each 3 minutes in length and 50 songs
that are each 5 minutes in length. What is the maximum number of songs from her
collection that she can play in 3 hours?

(A) 100 (B) 36 (C) 56 (D) 60 (E) 80
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	[image: image9.png]Six friends ate at a restaurant and agreed to share the bill equally. Because Luxmi
forgot her money, each of her five friends paid an extra $3 to cover her portion of the
total bill. What was the total bill?

(A) $90 (B) $84 (C) $75 (D) $108 (E) $60
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	[image: image10.png]In the diagram adjacent edges are at right angles. The four
longer edges are equal in length, and all of the shorter edges
are also equal in length. The area of the shape is 528. What
is the perimeter?

(A) 132 (B) 264 (C) 92

(D) 72 (E) 144
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	[image: image11.png]The symbol equals ad—bc. If =9, the value of x is

(A) -4 B) -3 © -2 D)2 (E) 4
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	[image: image12.png]If x = —3, which of the following expressions has the smallest value?

(A)z*-3  (B) (z—3)* (C)a? (D) (z+3)*> (E)a*>+3
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	[image: image13.png]The gas tank in Catherine’s car is % full. When 30 litres of gas are added, the tank
becomes % full. If the gas costs Catherine $1.38 per litre, how much will it cost her
to fill the remaining quarter of the tank?

(A) $8.80 (B) $13.80  (C) $16.56 (D) $24.84  (E) $41.40
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	[image: image14.png]In the board game “Silly Bills”, there are $1, $2 and $3 bills.
There are 11 more $2 bills than $1 bills.
There are 18 fewer $3 bills than $1 bills.

If there is $100 in total, then how many $1 bills are there in the board game?
(A) 11 (B) 14 (C) 22 (D) 33 (E) 40
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	[image: image15.png]Troye and Daniella are running at constant speeds in opposite directions around a circular track. Troye
completes one lap every 56 seconds and meets Daniella every 24 seconds. How many seconds does
it take Daniella to complete one lap?

(A) 32 (B) 36 (C) 40 (D) 48 (E) 42
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	[image: image16.png]Five identical rectangles are arranged to form a larger
rectangle PQRS, as shown. The area of PQR.S is 4000. The
length, x, of each of the identical rectangles is closest to

(A) 35 (B) 39 (C) 41

(D) 37 (E) 33

P

X
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	[image: image17.png]A rectangular piece of paper measures 17 cm by 8 cm. It is folded so that a right
angle is formed between the two segments of the original bottom edge, as shown.
What is the area of the new figure?

O
Before After

(A) 104 cm?  (B) 81 cm? (C) 72 cm? (D) 168 cm?  (E) 64 cm?
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	[image: image18.png]A one-dollar coin should have a mass of 7.0 g. Each individual coin may be lighter
or heavier by as much as 2.14%. Joshua has a number of these coins and determines
that they have a total mass of 1 kg. What is the difference between the greatest
possible number and the least possible number of these coins that he could have?

(A) 4 (B) 5 (C) 6 (D) 7 (E) 8







Answers: 1.C  2.C  3.D  4.C  5.A  6.A  7.C  8.C  9.A  10.E  11.C  12.D  13.C  14.C  15.E  16.A  17.A  18.B








